MBF3C - Trigonometry Lesson 1

Diagrams are not drawn to scale.

1.
Based on the following diagram use the values given to find the missing/indicated side:


(a)
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A = 55°, c = 25 m ( find a
(b)
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A = 65°, c = 32 cm ( find b
(c)
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B = 15°, c = 42 m ( find b
(d)
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B = 35°, c = 55 cm ( find a
2.
Based on the following diagram use the values given to find the missing/indicated side:

(a)
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A = 75°, b = 52 m ( find a
(b)
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A = 64°, a = 23 cm ( find b
(c)
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B = 18°, a = 24 m ( find b
(d)
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B = 31°, b = 58 cm ( find a
3.
Given the following diagram solve for the lengths of the missing sides.

4.
Given the following diagram solve for the lengths of the missing sides.


 SEQ CHAPTER \h \r 1 
Solutions:

(Note: answers should be within a decimal place depending on accuracy of numbers used.)
1. (a) a = 20.5m  (b) b = 13.5cm (c) b = 10.9m (d) a = 45.1cm
2. (a) a = 194.1m  (b) b = 11.2cm (c) b = 7.8m (d) a = 96.5cm
3. b =  116.6m  c = 275.8m  

4. a =  58.3cm  c = 137.9cm 
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